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v %X = H Tk 6 4R 114 1 64 2 14 2 148
£ B O W 192 191 191 190 50, 836
#Ho#H AN B (N 3.61 3.35 3.09 3.17 3. 10
H ¥ AN B (N 1. 48 1. 46 1.34 1.34 1.43
it E O FER R 50.8 50. 1 55. 1 55.0 55. 4
FHEFE BiFEE) (%) 84.1 77.9 73.4 81.5 80. 6
£ O A (TH) 8, 090 7, 500 6, 697 6, 099 6, 482
(LAY 720 ERIA) () (2, 241) (2, 239) (2, 167) (1,924) (2,091)
1 #H X H 342, 135 336, 963 315, 243 316, 585 300, 936
VYR E- ST (94, 774) (100, 586) (102, 020) (99, 869) (97, 076)
=" At 84, 030 82,079 71, 085 69, 694 69, 298
£ JE 14, 729 25, 236 21,901 27, 052 18, 528
Bk KB 19, 529 19, 780 19, 678 18, 928 19, 140
FHEH-FZFEHM 14, 004 14, 069 9, 746 8,570 9, 531
R E OB WY 21,900 17, 168 14, 524 10, 330 12,233
R o/ E 9,673 10, 935 13, 426 11, 538 13,414
2 i S = 33, 419 32, 792 42,413 47, 419 43, 968
H H 16, 696 15, 811 14, 429 20, 106 14, 743
#H & B O 32, 853 30, 846 30, 625 31, 228 32, 262
Z OO H 95, 302 88, 248 77,415 71, 720 67, 820
= IR HE (%) 24.6 24.4 22.5 22.0 23.0

*1 Rl [E 5 E 18R

£ A (%) 31.72 A 7.29 A 10.71 A 8.93 A 6.40
W oE X H (%) 13.77 A 1.51 A 6.45 0.43 A 5.08
=2 B (%) 7.08 A 2.32 A 13.39 A 1.96 A 4.37
fE B (%) 20. 80 71.34 A 13.22 23.52 A 227
B - K E (%) 24. 38 1.29 A 0.52 A 3.81 A 2.70
FE-FEHAL (%) 19. 96 0.46 A 30.73 A 12.07 A 4.38
WRECEY (%) A 2.85 A 21.61 A 15.40 A 28.88 A 11.83
7o E E (%) 54. 87 13.05 22.78 A 14.06 1.85
2@ - wmE (%) A 3.91 A 1.88 29. 34 11. 80 A 0.41
# B (%) A 19.96 A 5.30 A 8.74 39. 34 A 9.81
BOoE OB K (%) 36. 72 A 6.11 A 0.72 1.97 0. 39
ZohowsEH (%) 28. 37 A 7.40 A 12.28 A 7.36 A 14.50
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W T 2
v *x I\ B -
ERR 6 4 1 14F 1 64 2 14 2 14
£ X A FH) 8, 090 7, 500 6, 697 6, 099 6, 482
B E B E & M) 15, 549 17,196 17,903 17, 685 15, 650
BmEMEHEEE (TH) 504 1, 261 2,076 2, 760 2,788
& WM B e (FHD 7,995 9,110 7,798 7,797 6, 839
Ea kR 72 E(TH) 3, 407 4,751 4,977 3, 549 3, 665
H M FE F (TH) 3, 080 1,535 2, 657 3,325 2,077
& F B E & FH) 3,234 5,570 4,785 5,318 5, 246
5 bEE LHOTDHOAE (TH) 2, 880 4,900 3,770 4,983 4,479
R
I ¥ B E & O 100. 0 100. 0 100. 0 100. 0 100. 0
BEEEES ) 3.2 7.3 11.6 15.6 17.8
EMEEES %) 51.4 53.0 43.6 44.1 43.7
Eatrae e %) 21.9 27.6 27.8 20. 1 23.4
BH oM FE F %) 19.8 8.9 14.8 18.8 13.3
“ 1F B E & 100.0 100.0 100.0 100. 0 100. 0
I BIEE. LD DDA (%) 89.1 88.0 78.8 93.7 85.4
FULLE
B % ogE g e %) 192. 2 229.3 267.3 290. 0 241.4
o E e %) 40. 0 74.3 71.4 87.2 80.9
B EF R A E (%) 39.0 49.7 41.0 42.0 43.3
5 B DT DO (%) 24.2 30. 7 26.3 27.1 29. 1
(FF48) 20 5 M LL_E DB (%) .- .- 38. 4 37.0 40. 4
st BT B 5 2 £
I ¥ B E & o) 40. 4 10.6 4.1 A 1.2 A 1.4
mEEEES ) A 9.8 150. 2 64. 6 32.9 15.1
EMEEEFES %) 73.4 13.9 A 14,4 A 0.0 A 57
Eatrae e %) 45.0 39.4 4.8 A 28.7 A 11.9
BH oM FE F %) A 1.1 A 50.2 73.1 25.1 20. 1
B F B E & % 18.2 72.2 A 141 11.1 A 7.3
5 b{EE- O b oAl (%) 19.9 70.1 A 23.1 32.2 A 8.3

) A EIE R = (iR ORE AT [E R O i — 1) X 100
AT = (Ir&3AER FFIA) *100
BEFUL= (RERERS FFIA) *100



